

Letting:

03210513

Florida Department of Transportation

06/03/21

Page 1 of 1

Vendor Ranking

Call Order: 001 Contract: E3S70

District: District 3 Counties: WAKULLA Fed Aid No: N/A

May 13, 2021 2:00 PM

Contract Time: 395 AVAILABLE DAYS

Project(s): 43992635201 (*)

Contract Desc: SR 30 (US 98) BIKE PATH/TRAIL 43992635202

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	HALE CONTRACTING, INC.	Responsive	Winning bid	\$8,497,803.70	100.00%
2	M OF TALLAHASSEE, INC.	Responsive	Non-Winning Bid	\$8,714,976.12	102.56%
3	C.W. ROBERTS CONTRACTING, INC.	Responsive	Non-Winning Bid	\$9,188,920.84	108.13%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE OF INTENT TO AWARD: AWARD AND EXECUTION CONTINGENT UPON BUDGET AVAILABILITY



06/03/21

Tabulation of Bids

Page 1 of 13

 Letting:
 03210513
 May 13, 2021
 Call Order:
 001
 Contract:
 E3S70

 District:
 District 3
 Counties:
 WAKULLA
 Fed Aid No:
 N/A

Contract Descr: SR 30 (US 98) BIKE PATH/TRAIL 43992635202

The Improvements under this District Contract consist of FPID 439926-3-52-01, construction of a 10-foot-wide shared use path, a 1,609 linear foot boardwalk, and signing and pavement markings along SR 30 (US 98) Coastal Hwy From S. of Tower Rd. to SR 61 (US 319) and FPID 439926-3-52-02, construction of a 5-foot-wide sidewalk and signing and pavement markings along SR 30 (US 98) Coastal Hwy thru Panacea in Wakulla County, Florida.

PRE-QUALIFICATION IS REQUIRED TO BID ON THIS PROJECT.

	e No / Item ID	Alternate	Quantity Units	(1) HALE CONTI	RACTING, INC.	(2) M OF TALLA	AHASSEE, INC.		ROBERTS CTING, INC.
	dicates item is bi	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	Roadway						
0005 MOB I L	0101 1 IZATION 43992	2635201	(1.000) LS	650,000.00000	650,000.00	700,000.00000	700,000.00	600,000.00000	600,000.00
0010 MOBIL	0101 1 IZATION 43992	2635202	(1.000) LS	150,000.00000	150,000.00	56,140.00000	56,140.00	300,000.00000	300,000.00
0015 MAINT 439926	0102 1 ENANCE OF T 35201	RAFFIC	(395.000) DA (LS)	100,000.00000	100,000.00	214,137.60000	214,137.60	146,000.00000	146,000.00
0020 MAINT 439926	0102 1 ENANCE OF T 335202	RAFFIC	(395.000) DA (LS)	75,000.00000	75,000.00	20,000.00000	20,000.00	40,000.00000	40,000.00
0025 WORK	0102 60 ZONE SIGN		25,675.000 ED	0.25000	6,418.75	0.24000	6,162.00	0.21000	5,391.75
	0102 74 1 NELIZING DEV RUM, OR LCD	ICE- TYPES I,	30,020.000 II, DI, ED	0.14000	4,202.80	0.11000	3,302.20	0.10000	3,002.00



06/03/21

Tabulation of Bids

Page 2 of 13

Lettin	g : 03	3210513	May 13, 2021	Cal	l Order: 001		Contract:	E3S70	
	No / Item ID Description	Alterna	ite Quantity Units	(1) HALE CONTI	RACTING, INC.	(2) M OF TALLA	AHASSEE, INC.		ROBERTS STING, INC.
() inc	dicates item is bid	d as Lump Sun	1	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	Roadway						
	0102 99 BLE CHANGE EMPORARY	ABLE MESSA	1,580.000 AGE ED	12.00000	18,960.00	9.60000	15,168.00	10.15000	16,037.00
0040	0102909		395.000	31.00000	12,245.00	24.00000	9,480.00	30.00000	11,850.00
PER DA	RARY RAISED AY, INCLUDES ATIONS								
0045	0104 10 3		11,268.000	3.00000	33,804.00	2.25000	25,353.00	5.50000	61,974.00
SEDIME	ENT BARRIER		LF						
0050	0104 11		1,744.000	14.00000	24,416.00	12.00000	20,928.00	10.70000	18,660.80
FLOATI	NG TURBIDIT	Y BARRIER	LF						
0055	0104 12		711.000	8.00000	5,688.00	7.00000	4,977.00	8.55000	6,079.05
	D TURBIDITY I DRCED PVC	BARRIER- N`	YLON LF						
0060	0104 15		18.000	2,200.00000	39,600.00	1,500.00000	27,000.00	2,955.00000	53,190.00
SOIL TE	RACKING PRE	VENTION DE	EVICE EA						
0065	0104 18		61.000	150.00000	9,150.00	150.00000	9,150.00	160.00000	9,760.00
INLET F	PROTECTION	SYSTEM	EA						
0070	0107 1		903.020	45.00000	40,635.90	30.00000	27,090.60	26.75000	24,155.79
LITTER	REMOVAL		AC						



06/03/21

Tabulation of Bids

Page 3 of 13

Letting:	032	210513	May 13, 2021	Cal	II Order: 001		Contract:	E3S70	
	o / Item ID escription	Alternate	e Quantity Units	(1) HALE CONT	RACTING, INC.	(2) M OF TALLA	AHASSEE, INC.		ROBERTS TING, INC.
	-	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
S	SECTION:	0001	Roadway						
0075 01 MOWING	107 2		545.670 AC	50.00000	27,283.50	30.00000	16,370.10	21.50000	11,731.91
	110 1 1 6 & GRUBBIN	NG 43992635	(18.250) 201 AC (LS)	75,000.00000	75,000.00	219,537.50000	219,537.50	495,000.00000	495,000.00
	110 1 1 3 & GRUBBIN	NG 43992635	(1.070) 202 AC (LS)	75,000.00000	75,000.00	12,062.00000	12,062.00	100,000.00000	100,000.00
	110 4 10 OF EXISTIN	IG CONCRET	28.000 FE SY	50.00000	1,400.00	30.00000	840.00	45.00000	1,260.00
	110 7 1 F&I SINGLE		19.000 EA	100.00000	1,900.00	200.00000	3,800.00	240.00000	4,560.00
	120 1 EXCAVATIO	ON	6,667.000 CY	18.00000	120,006.00	10.00000	66,670.00	10.85000	72,336.95
	120 2 2 EXCAVATIO	N, TRUCK	20,024.800 CY	21.00000	420,520.80	12.30000	246,305.04	8.00000	160,198.40
	120 4 EXCAVATIOI	N	2,637.200 CY	18.00000	47,469.60	22.00000	58,018.40	16.25000	42,854.50
	125 1 ON FOR ST	RUCTURES	61.000 CY	128.00000	7,808.00	130.00000	7,930.00	124.00000	7,564.00



06/03/21

Tabulation of Bids

Page 4 of 13

Letting:	03210513	May 13, 2021	Cal	II Order: 001		Contract:	E3S70	
Line No / Item Item Descripti		te Quantity Units	(1) HALE CONT	RACTING, INC.	(2) M OF TALLA	AHASSEE, INC.		ROBERTS STING, INC.
· ·	is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	Roadway						
0120 0160 4 TYPE B STABILIZ	ATION	7,279.000 SY	20.00000	145,580.00	6.00000	43,674.00	11.10000	80,796.90
0125 0285701 OPTIONAL BASE,	BASE GROUP 0	5,547.000 1 SY	12.50000	69,337.50	7.00000	38,829.00	10.30000	57,134.10
0130 0285709 OPTIONAL BASE,	BASE GROUP 0	17,026.000 9 SY	25.00000	425,650.00	48.01000	817,418.26	46.80000	796,816.80
0135 0285710 OPTIONAL BASE,	BASE GROUP 1	7,997.000 0 SY	30.00000	239,910.00	41.40000	331,075.80	40.60000	324,678.20
0140 0286 1 TURNOUT CONS BASE- OPTIONAL		4,996.000 EWAY SY	21.00000	104,916.00	28.53000	142,535.88	29.50000	147,382.00
0145 0334 1 1 SUPERPAVE ASF TRAFFIC B		2,887.300 TN	145.00000	418,658.50	126.50000	365,243.45	115.00000	332,039.50
0150 0400 0 1 CONCRETE CLAS INDEX 400-011		1,326.300 WALL CY	725.00000	961,567.50	735.28000	975,201.86	755.00000	1,001,356.50
0155 0400 2 8 CONCRETE CLAS		30.700 CY	2,650.00000	81,355.00	2,151.79000	66,059.95	2,690.00000	82,583.00
0160 0415 1 8 REINFORCING ST		3,254.000 D LB	3.50000	11,389.00	1.00000	3,254.00	3.30000	10,738.20



06/03/21

Tabulation of Bids

Page 5 of 13

Lettin	g : 0	3210513	May 13, 2021	Cal	Il Order: 001		Contract:	E3S70	
	No / Item ID	Alternat	e Quantity Units	(1) HALE CONT	RACTING, INC.	(2) M OF TALLA	AHASSEE, INC.		ROBERTS CTING, INC.
	-	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	Roadway						
0165 INLETS	0425 1521 S, DT BOT, TY	PE C,<10'	22.000 EA	3,000.00000	66,000.00	2,694.50000	59,279.00	2,800.00000	61,600.00
0170 INLETS	0425 1529 S, DT BOT, TY	PE C, MODIFY	6.000 EA	3,000.00000	18,000.00	4,309.97000	25,859.82	2,900.00000	17,400.00
0175 INLETS	0425 1541 S, DT BOT, TY	PE D, <10'	2.000 EA	4,000.00000	8,000.00	3,682.56000	7,365.12	3,800.00000	7,600.00
0180 MANHC	0425 2 41 DLES, P-7, <10)'	3.000 EA	4,500.00000	13,500.00	3,666.02000	10,998.06	5,250.00000	15,750.00
0185 MANHC	0425 2 43 DLES, P-7, PA	RTIAL	5.000 EA	2,500.00000	12,500.00	2,323.08000	11,615.40	2,600.00000	13,000.00
0190 MANHO	0425 2 61 DLES, P-8, <10)'	2.000 EA	4,000.00000	8,000.00	3,453.60000	6,907.20	5,585.00000	11,170.00
0195 MANHC	0425 2 71 DLES, J-7, <10)'	1.000 EA	5,000.00000	5,000.00	5,120.62000	5,120.62	6,305.00000	6,305.00
	0430174118 ULVERT, OPT D, 18"SD	TONAL MATER	402.000 RIAL, LF	55.00000	22,110.00	72.02000	28,952.04	59.00000	23,718.00
	0430174124 ULVERT, OPT D, 24"SD	TONAL MATEF	210.000 RIAL, LF	75.00000	15,750.00	94.69000	19,884.90	74.00000	15,540.00



06/03/21

Tabulation of Bids

Page 6 of 13

Letting	j: 03	210513 M	ay 13, 2021	Cal	l Order: 001		Contract:	E3S70	
	No / Item ID Description	Alternate	Quantity Units	(1) HALE CONTI	RACTING, INC.	(2) M OF TALLA	AHASSEE, INC.		ROBERTS CTING, INC.
	icates item is bid	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001 F	Roadway						
PIPE CU		ONAL MATERIA P/ARCH, 18"SD	181.000 .L, LF	91.00000	16,471.00	93.19000	16,867.39	91.00000	16,471.00
PIPE CU	0430175118 ILVERT,OPTIC AL,ROUND, 18		961.000 LF	70.00000	67,270.00	72.02000	69,211.22	71.00000	68,231.00
PIPE CU	0430175124 ILVERT,OPTIC AL,ROUND, 24		1,705.000 LF	100.00000	170,500.00	70.69000	120,526.45	60.00000	102,300.00
PIPE CU	0430175136 ILVERT, OPT N 36"S/CD	MATERIAL,	187.000 LF	160.00000	29,920.00	149.80000	28,012.60	118.00000	22,066.00
PIPE CU	0430175148 ILVERT, OPT N 48"S/CD	MATERIAL,	6.000 LF	255.00000	1,530.00	428.43000	2,570.58	450.00000	2,700.00
STRAIGH	0430518100 HT CONCRETI 0 DEGREES,	E ENDWALLS, ' ROUND	1.000 18", EA	3,700.00000	3,700.00	3,002.04000	3,002.04	4,660.00000	4,660.00
STRAIGH	0430536100 HT CONCRETI 0 DEGREES,	E ENDWALLS, (ROUND	3.000 36", EA	7,200.00000	21,600.00	6,199.27000	18,597.81	7,480.00000	22,440.00
		ON, OPTIONAL	5.000 EA	1,200.00000	6,000.00	1,471.47000	7,357.35	1,610.00000	8,050.00
		ON, OPTIONAL	1.000 EA	1,500.00000	1,500.00	1,592.36000	1,592.36	3,350.00000	3,350.00



06/03/21

Tabulation of Bids

Page 7 of 13

Lettin	g : 0	3210513	May 13, 2021	Cal	II Order: 001		Contract:	E3S70	
	No / Item ID	Alterna	ite Quantity Units	(1) HALE CONT	RACTING, INC.	(2) M OF TALLA	AHASSEE, INC.		ROBERTS CTING, INC.
	dicates item is b	id as Lump Sun		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	Roadway	1			ı		
	0430984125 ED END SECT), 18" SD		12.000 IAL EA	1,200.00000	14,400.00	1,471.47000	17,657.64	1,350.00000	16,200.00
	0430984129 ED END SECT), 24" SD		8.000 IAL EA	1,500.00000	12,000.00	1,592.36000	12,738.88	1,970.00000	15,760.00
	0430984625 ED END SECT ICAL / ARCH,	, OPTIONAL	6.000 - EA	1,500.00000	9,000.00	1,536.29000	9,217.74	1,650.00000	9,900.00
	0455 2 7 R PILING FOR WALK, PROJ			36.04000	265,290.44	38.57000	283,913.77	35.90000	264,259.90
	0455 2 9 R TEST PILE F WALK, PROJ			195.00000	62,400.00	211.60000	67,712.00	197.00000	63,040.00
	0455 35104 PILING, 10" D -3-52-01,	IA. PIPE, PRO	2,889.000 DJECT LF	107.00000	309,123.00	115.00000	332,235.00	106.95000	308,978.55
	0455144101 PILES - STEEL CT 439926-3-	, 10" DIA PIPI	130.000 ≣, LF	1,050.00000	136,500.00	1,200.60000	156,078.00	1,116.00000	145,080.00
0290 TREAT	0470 1 ED TIMBER, S	STRUCTURAL	40.500 _ MB	20,650.00000	836,325.00	23,448.50000	949,664.25	21,804.00000	883,062.00
0295 PIPE HA ALUMIN	0515 1 2 ANDRAIL - GU NUM	JIDERAIL,	52.000 LF	48.00000	2,496.00	100.00000	5,200.00	134.00000	6,968.00



06/03/21

Tabulation of Bids

Page 8 of 13

Lettin	g : 03	3210513	May 13, 2021	Cal	l Order: 001		Contract:	E3S70	
	No / Item ID	Alterna	e Quantity Units	(1) HALE CONTI	RACTING, INC.	(2) M OF TALLA	AHASSEE, INC.		ROBERTS STING, INC.
	dicates item is bi	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	Roadway						
	0515 2311 TRIAN/ BICYC NUM ONLY,42		2,247.000 LF	68.00000	152,796.00	80.00000	179,760.00	69.00000	155,043.00
COATE	0515 2701 TRIAN BRIDG D FENCE MES -3-52-01		3,218.000 LF JECT	25.00000	80,450.00	26.11000	84,021.98	24.30000	78,197.40
0310 BOLLAI	0519 78 RDS		2.000 EA	800.00000	1,600.00	1,000.00000	2,000.00	1,485.00000	2,970.00
	0522 1 RETE SIDEWA WAYS, 4" THIC		1,551.000 SY	60.00000	93,060.00	50.00000	77,550.00	92.00000	142,692.00
	0522 2 RETE SIDEWA WAYS, 6" THIC		318.000 SY	70.00000	22,260.00	75.00000	23,850.00	92.00000	29,256.00
0325 DETEC	0527 2 TABLE WARN	IINGS	1,294.000 SF	30.00000	38,820.00	20.00000	25,880.00	26.00000	33,644.00
0330 RIPRAF	0530 3 4 P, RUBBLE, F&	&I, DITCH LINI	103.700 NG TN	150.00000	15,555.00	100.00000	10,370.00	81.00000	8,399.70
0335 BEDDIN	0530 74 NG STONE		3.200 TN	1,450.00000	4,640.00	1,500.00000	4,800.00	1,540.00000	4,928.00





Tabulation of Bids

Page 9 of 13

Lettin	g : 0	3210513	May 13, 2021	Cal	II Order: 001		Contract:	E3S70	
	No / Item ID	Alterna	te Quantity Units	(1) HALE CONT	RACTING, INC.	(2) M OF TALLA	AHASSEE, INC.		ROBERTS CTING, INC.
() inc	dicates item is b	oid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	Roadway						
0340 PERFO	0570 1 2 RMANCE TU	RF, SOD	32,505.000 SY	3.00000	97,515.00	3.12000	101,415.60	2.50000	81,262.50
REINFO	DRCED POLY	DWALK- FIBE MER COMPO 7 439926-3-52-	SITE	18,375.00000	703,762.50	20,125.00000	770,787.50	18,710.00000	716,593.00
		VALL FOUNDA 52-01 and 439		506.00000	628,705.00	386.00000	479,605.00	540.00000	670,950.00
	0999 25 . CONTINGEN D 4399263520	ICY AMOUNT, 01	(1.000) DO LS	65,338.76000	65,338.76	65,338.76000	65,338.76	65,338.76000	65,338.76
	0999 25 . CONTINGEN D 4399263520	ICY AMOUNT, 02	(1.000) DO LS	4,856.40000	4,856.40	4,856.40000	4,856.40	4,856.40000	4,856.40
	00	01 Roadway	Section Totals:		\$8,449,115.95		\$8,662,086.12		\$9,154,861.56
	SECTION:	0002	Signing						
	0700 1 11 E POST SIGN Г, UP TO 12 S	, F&I GROUNE F	26.000 AS	358.00000	9,308.00	390.00000	10,140.00	320.00000	8,320.00
	0700 1 12 Ε POST SIGN Γ, 12-20 SF	, F&I GROUNE	1.000 AS	1,100.00000	1,100.00	1,200.00000	1,200.00	1,315.00000	1,315.00



06/03/21

Tabulation of Bids

Page 10 of 13

Letting	g: 032	210513 Ma	y 13, 2021	Cal	l Order: 001		Contract:	E3S70	
	No / Item ID Description	Alternate	Quantity Units	(1) HALE CONTRACTING, INC.		(2) M OF TALLA	AHASSEE, INC.	(3) C.W. ROBERTS CONTRACTING, INC.	
	dicates item is bid	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0002 Si	gning						
0375 SINGLE	0700 1 50 POST SIGN, R	ELOCATE	46.000 AS	138.00000	6,348.00	150.00000	6,900.00	53.50000	2,461.00
0380 SINGLE	0700 160 POST SIGN, R	EMOVE	4.000 AS	39.00000	156.00	42.00000	168.00	10.70000	42.80
0385 MULTI- RELOCA		ROUND MOUNT	2.000 , AS	2,750.00000	5,500.00	3,000.00000	6,000.00	320.00000	640.00
	0700 13 12 REFLECTIVE S H AND INSTAL		14.000 EA	88.00000	1,232.00	96.00000	1,344.00	107.00000	1,498.00
0395 OBJECT	0705 10 1 Γ MARKER, TYF	PE 1	18.000 EA	220.00000	3,960.00	240.00000	4,320.00	187.00000	3,366.00
0400 OBJECT	0705 10 2 Γ MARKER, TYF	PE 2	36.000 EA	176.00000	6,336.00	192.00000	6,912.00	59.00000	2,124.00
		ARKER, TYPE E FACE MARKING		11.00000	253.00	12.00000	276.00	10.70000	246.10
	12" FOR CROS	ANDARD, WHITE SWALK AND	581.000 E, LF	3.50000	2,033.50	3.60000	2,091.60	3.20000	1,859.20



06/03/21

Tabulation of Bids

Page 11 of 13

Letting:	0321	0513	May 13, 2021	Ca	ll Order: 001		Contract:	E3S70	
Line No / It		Alternate	Quantity Units	(1) HALE CONT	RACTING, INC.	(2) M OF TALLA	AHASSEE, INC.		ROBERTS STING, INC.
() indicates	•	s Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION: 00	002	Signing						
0415 0711 THERMOPLAS SOLID, 18" FO CHEVRONS			41.000 HITE, LF	5.50000	225.50	6.00000	246.00	5.35000	219.35
0420 0711 THERMOPLAS SOLID, 24" FO CROSSWALK	R STOP L		67.000 HITE, LF	7.75000	519.25	8.40000	562.80	7.50000	502.50
0425 0711 THERMOPLAS MESSAGE OF		NDARD, WH	1.000 HITE, EA	138.00000	138.00	150.00000	150.00	135.00000	135.00
0430 0711 THERMOPLAS WHITE, SOLID			236.000 LF ALK	14.50000	3,422.00	15.60000	3,681.60	13.90000	3,280.40
0435 0711 THERMOPLAS WHITE, MESS		FORMED,	7.000 EA	440.00000	3,080.00	480.00000	3,360.00	428.00000	2,996.00
0440 0711 THERMOPLAS SURFACES, V			0.238 HER GM	11,000.00000	2,618.00	12,000.00000	2,856.00	10,785.00000	2,566.83
0445 0711 THERMOPLAS SURFACES, V			0.017 HER GM	22,000.00000	374.00	24,000.00000	408.00	25,160.00000	427.72
0450 0711 THERMOPLAS SURFACES, Y			0.047 HER GM	11,000.00000	517.00	12,000.00000	564.00	11,375.00000	534.63



06/03/21

Tabulation of Bids

Page 12 of 13

Letting:	03210513	May 13, 2021	Ca	II Order: 001		Contract:	E3S70	
Line No / Ite Item Descri		ate Quantity Units	(1) HALE CONT	RACTING, INC.	(2) M OF TALLA	HASSEE, INC.		ROBERTS CTING, INC.
() indicates ite	em is bid as Lump Su	ım	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECT	TION: 0002	Signing						
THERMOPLAS	7 1 TIC, REMOVE EXI TIC PAVEMENT JRFACE TO REMA		5.50000	1,567.50	6.00000	1,710.00	5.35000	1,524.75
0002 Signing Section Totals:			ı	\$48,687.75		\$52,890.00		\$34,059.28
	Contract	Grand Totals:		\$8,497,803.70		\$8,714,976.12		9,188,920.84



06/03/21

Tabulation of Bids

Page 13 of 13

Letting: 03210513 May 13, 2021 **Call Order:** 001 **Contract:** E3S70

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.